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Directions: 1 tiy@.Padasalai.Net 7. HZFIWH] KSJND ™

It the alphabets in the English 1. SHM
alphabetical series are written then: 3. RHN -
1. Which is the 8" letter to the right of i‘ m

16" letter from your left? :

1. K 8. JKL, LKJ, JKLM, MLKJ, JKLMN, ?

2. Y 1. LMJKN

3 X 2. NLMKJ

4 W 3. NMLJK

4, NMLKJ

2. If the first half of the alphabatical
seres is in reverse order, which will

be the 5% latter 10 tha laft of 13* let- 8. Tu:gm.nma.mmu.mm,?
1'?';““’“"““ 2. 18F5
5 g 3. 17E3
i 4, 18D4
4. D
Directions: 310 9 Directions: 10 to 11
Find the right letter / number for question
marks ( ? ). Iif MAPLE is coded as ELPAM
3. XUSPNK 7
3/ 10. How will CAMEL be coded?
b 1. ACMEL
3 M 2, LECAM
a 3. ELMCA
4, LEMAC
4, BEINT ?
1. R 11. How will WATER be coded?
2. S 1. ERTWA
3 U 2. RETAW
4. A 3, WETAR
5. 0,6,24,80, 7,210 4. RATEW
1. 17
2 119 12, It Blke is coded as Car, Car as
3. 120 Aeroplane, Aeroplane as Train, Train
4, 126 as Bus, then by which vehicle can
6. 3,15,4,16,5,17,6, 7,7 you reach your destination in least
1. 12 tima?
2. 18 1. Aeroplane
3. 15 2, Train
4. 13 3. Car
4. Bus

http://www.trbtn psc.com/2014/({2(t’_'_|m ms=exam-study-materials.html
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ofE el & ol ) guimargET o W
o1 -

#?mmiﬂ1ﬂ¢##1ﬁiﬂﬁ=ﬁiﬂ¢aﬂ13ﬂ1
i HE | OFm e

1. K
2. Y
3. X

4. W

2. gff woiaren & wem et 5 o el
WA W T AT A Ao I | 139 aof
# o w5 9w B oW B

1. 5
2. E
a. F
4. D

FEn 34 9

;:;ﬂmmﬁftﬁE?Jﬂﬁfﬁw*ﬂfiﬂﬂ#ﬁﬁumm
I

I.XUSPNK?
|
L
. M
. Q

EINT?
S

= W e 0N

+R

U

A
-0,6,24,60, 7,210

1. 117

2. 119

3. 120

4. 126

6. 3,15,4,16,5,17,6, 2,7

1. 12
2. 18

2
3
4

V\_/Ilv%lw.Tranpsc.com

4. 13

7. HZF, IWH, KSJ, NNL, 7
1. SHM
2. AHN
3. THN
4. RGM
8. JKL, LKJ, JKLM, MLKJ, JKLMN, 2
- LMJKN
2. NLMK.J
3. NMLJK
4. NMLKJ
9.7T19, 9016, 11N13, 13K10, ?
1. 17E4
2. 18F5
3. 17E3
4. 18D4
frfen 2 10 9 11
af¥ MAPLE ¥ @ widseners ELPAM 1 o
10. CAMEL @1 wWaener @ g ?
ACMEL

LECAM

ELMCA

LEMAC

11.  WATER @ wabeae w gim?
ERTWA

RETAW
WETAR
RATEW

12. ofk adT o ARTeN v &, T @
TATE GTETS, BATE OIETS W1 YAy,
YETIST W1 €9 1 WA $H W 3 ang
Ty 2
1. 591§ WIETd
2, YT

3. ®F
4. T4

—

@ -

B0 R -

http://www.trbtnpsc.com/2014/§2hmms-exam-study-rmaterials.html



Diractions: 13M\q\aPadasalai.Net

In certain code language 579" means -
‘Geeta is soft-spoken’, ‘684’ means - ‘Soft-
spoken beautiful pure’, 473 means -

‘Ganga is pure’,

13. What is the code used for ‘Geeta™?

1. 7
2, 5
3. g
4. 3

14.  What is the code used for is'?

I @D =
LEE =

Directions: 1510 17

If 'BEAT is coded as 'ADZS’, select
appropriate code for the words given in
capital letlers:

15. TRACE
1. USBDF
2. SQZBD
3 SQABD
4. SQZDE
16. ZEAL
1 YDZK
2 YFZK
3 AFBM
4 YFAK
17. HIGHLY
1 GHEGKZ
2 GHFGKX
a GHFIKX
4. GHFIMX
18. If BOOK=43 and PEN=35, then
COPY="?
1. 48
2, 60
3. 59
4. 79

19, If ‘CireteVis relatesd pe"Circumference’
in same way ‘Square’ is related to
what?

1. Diagonal ;
2. Perimeter

3. Angle

4, Area

Directions: 20 to 22

Answer the questions on the basis of the
following senes

4235324241367234435524342304254 32

20. How many 4s are there which are

followed by 2 or 3 or 57
{: "5
2 6
3 4
A 5y

21. How many 3s are there, which are
preceded by 2 or 4 or 5, but are not
followed by &7
1.

~l @

2.
3.
4

22. If the total number of 25 and 3s is
added and total number of 5 is sub-
tracted, the result will be:

11

13

12

14

b L3R -

Directions: 23 to 26

Onea word is different from the rest. Find
the odd one out.

23.
1. ML
2 TS
3. FG
4, PO

http://www.trbtn psc.com/2014/02‘{nrr_:ms-exam-study-mate rials.html
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ol = A4 HO57E g -

‘Geeta |s soft-spoken”, * 649" &1 apd

%% - ‘Soft-spoken beautiful pure’,
‘473" 1 2l ® - 'Ganga is pure'

13. 'Geeta’ & fag ¥ waa swme gan

B7

T
-
3.9

4.3 ;
14, 'is" % fog T woa swie gan 87

1
4.
3

LT

4.3

ferfen ;15 W 17
ufe '‘BEAT' w1 Wb 'ADZS' £, @ vt
& W Wamew g0 o
15. TRACE
. USBDF
2. SQZBD
3. SQABD
4, SQZDE
16. ZEAL
1. YDZK
2. YFZK
3. AFBM
4. YFAK
17. HIGHLY
1. GHEGKZ
2. GHFGKX
3. GHFIKX
4. GHFIMX

18. R BOOK=43 afm PEN=35 & =i
COPY=?

1. 48
2. 60

—_—

ww.TrbTnpsc.com

4. 79"
19.3afs  'Circle' Waer I®E1 #
‘Cireumference’ ® = ‘Square’ 71 f5a
o HAY g7
1. Diagonal ( fr=)
2. Perimater (af¥smT)
3. Angle (i)
4. Area (&=wd)
frdfer : 20 9 22
A &7 mE W AR T wvE & 9 =
4235324241367234435524342
39425432
20.2,3,W 5% T 4 e AR AEn 7
155
2. 6
3.4
4. 7

M. st M2 aT s T R
mﬁkﬁfqmrs @ Ay TEf
1.4

+ 5
. B
T

P W W

22. Of% wAw 2 AR 3 W wW fFm e

3 @ o W 5 W we fa e @
qREmE B

1.1
2.13
3. 12
F o P e
fder : 23 & 26
U TR W Il A Se Bl e o
TEU Sy
23,
1. ML
0
3. FG
4. PO
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a4 www.Padasalai.Net 31. a_bbcdblic | Habeebcabiidaab_

1. CEl 1. adce
2. QSX 2. abed ¥
3. JLP 3. adcd S
4, QSW 4. acdc
25. 32.bc b _c_b_ccb
-1, Al 1. bbcb
2. JR 2. cbeb
3. PV 3. cbhbbe
4, QW 4 becbce
26. 43. If the position of Rajan is 15" from one
1. 7 end and 13* from the other end in his
2 8 class, what is the total number of
3. 11 studants in his class?
413 1. 28
2. 24
Directions: 27 1o 32 3. 27
4, 29
Find the missing letter sequence.

34. A child was looking for his father. He

27.ba abab b _ba_aba went 90 m in east, then turned 1o his

1. abab right and went 20m. He again lumned
2. aabb to his right and walked 30m to look for
3. baab his father, His father was nol present
4. bbaa

thera, From, there he went 100 m to
his north and mat his father in a streel.

28. mnm_mn__m_mn How far did the son meet his father

— = =

1+ nmnn from his starting point?
2. nmnm
3. mmmn 1o
L 2. 60m
3. 100 m
29.aaab __ aa__ab 4. 40m
1. aabb 35. After walking 6 km, | turned right and
2. bbab coverad 2 km, then turned left and
3. aaaa covered a distance of 10 km. In the
4. bbbh

end, | was moving towards North. In

which direction did | start my journey?
30. cc_ccdd_d_cc_ccdd_dd

1. North
1. dcdc¢ 2 Sauth
2 dcddc 3 West
3, dcedd 4 East
4. deddd

http://www.trbtn psc.com/2014/0?l/gr? ms-exam-study-materials.html



: www.Padasalai.Net
24

. CEIl

. QSX
. JLP
. QSW

BoWw M =

25

AG
-JR
- PV
. Qw

=k

- W M

26 .
17
2.:9
=170
4. 13
Fd=r - 27 w1 32
F< av ufda gl
27_ba_abab_b_ba aba
1. abab
2. aabb
3. baab
4. bbaa
28 . MNM_Mn__m_mn.
1. nmnn
2. nmnm
3. mmmn
& _ MM
29 aaab_ _aa _ab
1.aabb
2. bbab
3. aaaa
4. bbbb
30. cc_cedd d ce ecdd dd
1.dcdcc
2.decddc
3.dccdd

31.

32,

33

4. d oW\ §roTnpsc.com
a_bbcdbbe_daced _abddaab_.
1l.adce

2.abcd

3.adcd

4. acdc

bc. b c b cch

1. bbcb

2. cbcb

3. cbbe
4 bebce

Off e # T N B 3 W wem

159 ¥ WX § v T v o 1ad
wE TR A wE H w5 e forenad
87

1. 28

2.24

3.27

4_29

. T Fom) A9 PO B 5@ T8 A 98 90
et @ Raw @ SR wmn R o e

31 #T 20 Hex T 98 6 F 9 o
TEI &7 30 Wiet 99| TER e o 99
GERU R el v S
100 Hiet =91 S A e F o W
A Pl 98 W= I RRm @ ewn

e e & B g w e
1.80m
2.60m
3.100 m
4.40 m

. 6 Flifer et 3 9= 7 28 o g

Mt 2 FirdieT oo 2 9% Rt @ and
T TR ST 10 FERieT =) iy F
A gt fem & S o Ten g B9 e
= B greEm e R § 0

1. 3

2. ke

3. UiER

4. 08
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36.

37

In a roWBF grfESHahEbtal who is
10th from the lefi and Hina who is
9" from the right, interchange their
positions, Sheetal becomes 150
from the left. How many girls are
there in the row?

1. 24
2. 23
3. 25
&4, 26

In a group of 15 people, 7 can read
Hindi, 8 can read English while 3
others can’t read both of these.
How many can read English and
Hindi both?

1. 3
2. 4
5 5]
4. Mone

Directions: 38 to 40
Find the missing character / number.

36. 3 4 25
s LN
36 4% 36

i, 19
2. 25
3. 22
4, a1
39. Ha
3| & 3
!dﬂiiiiﬂ! 5|92
] 3 g
12y <20
2. 16
3! 12
4, 14
40.
84 g1 88
|
|
14{12 18| 9 ? | 11

1. WWwalgbTnpsc.com

2o a2
3. BT
4o BIETEs .

Directlons: 41to 42

Which of the Interchange of sign /signs
would make the equations correct?

41. 5+43x8-12:4=3

1k + & -
2. -& =
3. + & X
4, + & =
43, E+B=3-12X2 =17
1. + & X
2. + & X
3. + & =
i, + & -

43,  |i'+ stands for subtraction, =" stands
for multiplication , X' stands for di-
vision and '+’ stands for addition
then
15X3+15+5-2=7

i 0

2. (&

3. 10

4 20

44,  How many even numbers are there
in the following sequence of num-
bers which are immediately fol-
lowed by an odd number as well
as Immediately preceded by an
even number?
BETBEBOIZTE5342235522

8119

1. One
2. Three
3. Four
4, Five

45,  Inone of the following sequences,
odd number of |letters have been
skipped between its adjacent let-
ters. ldentify the sequence.

BOHLR

FIMRX

EIMQY

MPRLEX

P LMo =

http://WWW.trbtnpsc.com/2014/q2]‘rjmms-exam-study-materials.HtmI :



36. weiedl dvwwarkd|cafeeio A %
o ST & 103 B B i P S
o f5 o i @ o s 9T 3, o W
I d wmedt € ot fow od s E
159 T 9 o Al § | 39 Ad o 5w

Pt wrafisi B2
1. 24
2. 23
3. 25
4. 26

37. 15 @l & o g A, 7 9 e o
g5d £, 8 &t afieh oy w5 ¥ ol 3
- @M = T el A & g oh o O
s at e @t el ol ol A=
g =t 07

1. 3
4

6

¢ T
Frdan : 38 & 40

qa T/ 306w B |

38. 9 4 26
Hi! 81 n u@w&
T 49 6

1. 18
2.25
3.22
4.3

39. e
3 & 2

4 (42| & 6 (18| 2 | 7=
s |

L 2] 4 Pl
1.20
2.16
3.12

4. 14

2.
3.
4.

40. '—H_XAT/W.Trb‘ﬂ rﬁ)ic'com _;!"'

1.16
a 21
3. 61
4. 81

FEm 418 42

Freedt 71 @ B & fog /7 gl @ ome =W
it f adt w5 &7

41, 5+3x8-12+4=3
+&-
- E
+ & X
+ &+

+623=12X2 =17
+& X
+ & X

+& +
+ & -

43. ot '+ o1 d B oerg, ' wood B o,
Y mroard B owm et ' wroad oo,
N 1EX3+15+5-2=7

s
-
e
[
i
-]
o

o

11

q2.

L3 B0 S8R 3 AT

1 0
2. B
3, 10
4. 20
44. 2 B2 @ w7 Rl w9 deard W
¢ PR G R den anh & ol o
uv e amh b7
BE76B932753422355228
119
1. 1. g
2. G
3. 10
4, i
45. Frefefmap Ad i A w

Pyt amerdl & aiEeh aviaeT & o
farey HeEmsll & st 618 T §ooh

T B TEEE e )
1. BOHLR
2. FIMRX
3. EIMQV
4 MPRUX
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46. ArrangevtivePgiesrriwiords in the
sequence in which they occur in the
English dictionary and then choose
the correct sequence.

{a) Spruce (b) Spume (c) Spree
(d) Spurt (&) Spraw

1. ecabd

2, abcde

Jd. ceabd

4, caebd

Directions: 47 to 50

Patterns of circles are used to represent
“ the relationship among different items.
Each circle represents an item. Which of
the pattarns represent the relationship
among the items?

00| @D

47. Carrot, Food, Vegetables

48. Truck, Ship, Goods

49. Tennis fans, Cricket fans, Students
50. Sun, Moon, Stars

Directions: 51 to 54

The diagram given below shows the num-
ber of students who failed in different sub-
jects English, Hindi & Mathematics, out
of a class of 500 students, Study the dia-
gram and answar,

English aﬁ&s s
\ =/

Mathamatics

51. What is the number of students who
have failed in at least two subjects?
1. 24
2 22

3. \@4w.TrbTnpsc.com
4. 39

52. What is the number of students who
have failed only in one subject? ™=
1. 189
2 1585
3 160
4. 194

53. What is the number of students who
have not failed in any of the subjects?
1. 340
2 345
3. 306
4 31

24. What is the number of students who
have failed in two subjects only?
1. 39
2 24
J 34
4 22

Directions: 55 to 58

Figure X represents a squara transparent
sheet with a design on it. Examine the
figures given in the alternatives 1, 2, 3 &
4 and find the one which represents the
design that would appear when the sheat
is folded at the dotted line.

59. -
i o ——
~ KR AE
= :; 1 2z, .| d
i ey o
T Al A
1 2 .| d
78
|:| | B ?
21| B
58, X i 2 3 F

L]

fesunanas

. ! s
" =
n n
Erprmesssd

http://www.trbtn psc.com/2014/QZjl}m ms-exam-study-materials.html



46. A 7 o SR N T R
a s 3 == 7 BeR &t B
et feoeT g

(a) Spruce (b) Spume (c) Spree
{d) Spurt  (e) Sprawl

e,c,a,b,d

a,b,cde

c.eabd

c.a.ebd

ﬁ%arﬂ'@rsn

ol % A @ R W w91 PR
[ T B | 9 90 ©F 9B A R s
1 oF 0 B A wl F el § fE oA
Tl T A &7

.©

©o| QW

47. TS, Wi, wienal

48. T, ", Hd

49. FrE uvigs, e ovigs, fend
s0. gd, 95, o

FEm: 519 54

1% & ™ sngfa, soo0 Rt #i Fm F |
o T & = S, B oar At o
BE 1 A F SEge Fiem Fi apmi
g3 & a1 ey |

:ﬂ'ﬁ?ﬁ‘rﬁéﬁ*

T
51. Tt Ramdt =9 @ o9 3 Bl g @

A

I

w7

i. 24
2 22
3 34
4.

s2. Rt P S 0 i A dm g
1. 189

2. 155
3 160
4. 194
53. Prert Frawdt e o o fae F g1 5t
B 87
1. 340
2 345
2, 306
4. 311
54. [ Rard 39w &t & Bt F 9 g
7
1. 39
2 24
3 34
4. 20
FEm: 55 ¥ 58

g X &1 % 2 W B o gt et
firc 3 F9 o4 gu P2 =t aafh @) R
q 4w arghet 1, 2, 3 99 4 = aregme
i st i S B T & S o
oW s Bt swidh ot B el sfe =

g & RifeE tEr St Alsd o Rak dn
55.
?_£Eaﬁ
Eib
a7 X 1
B e e e o
=08 & B [
58, = i 2. 3 3
e e
o

9
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Directions: 59 tw\@f.Padasalai.Net

The five figures markedas A, B, C,D&E
which follows a series. Select a figure from
the given alternatives markedas 1,2, 3 &
4 which will continue the same series.
ha.

60.
glvleiplla
A B cC D E
QIC|CE
1 2 3 4
61.
[H e
A B
|5TEEEF
2
62
e -
P [ s
A -] c D E
e e [
1+ z+; 3* r
B3.

6. www.TrbTnpsc.com

B/

e m-‘-‘-—h
g | A il
':_—: |HHH.-
A » [ o E
= | = N |
e | i | - |
1 2 3

Leﬁ%ykf;ﬂél-ﬂ'ﬂ
EERED

Directions: 66 to 68

Some figures are given in a sequence, Se-
lect a suitable figure from the alternatives
marked as 1, 2, 3 & 4 which will come in
place of the question mark to continue the
sequence.

% [mOmoc o [N
oOomol ¢ jmm
A B O D
EOEOEOED
ENENE= DR

2 a 4
Dl e
A B L & D
e R L
I | i
i 2 a o,

68.

LI 2 |TA
WL TN

http://www.trbtn psc.com/2014/62-/i|1;|n ms-exam-study-materials.html



Rifar 5o & gsWWw.Padasalai.Net

EHMWH,E.G.DWE%Q“H#?I'

wqwﬁ'ﬁﬁh,z,aﬂmﬁtﬁaﬂ%ﬁ
B g w Aol B o e

59,
| l“; = B "
12 ;J._‘{ | Lol | ™ B
ot e
| =R
EEEE]
T o Eae]
60.
DI THI|O
A B C D E
CIE e
] 2 a 4
61, .
[ E:‘ EE =1 Eg 5
A B c D E
[5 E|§ r' I:‘ l"
£ 2 Ea Ea
62. i ]
L -] - £ FaY
+ a4l + - +
A -] C i} E
[ Pt '_.-:.,. = l:
+ + +
1 T k] 4
= I OIGIOIO0
ASUES TR EDY S E

Olalald)

1 2 3 4

www.TrbTnpsc.com

Gid,
Wi | =g | b | e | —
| o &l 44— | 44— | —a
HHHHH
i | —gp | —
A [ ] c

|
-—p-—-u.."q_nl-—p
z

1

FEEEREE
ESE2ERES

B AT S FH A 4 ) R g
feeedl 1, 2, 3 T 4 § ¥ 9w R @ =

65.

UT S ATl 96 gl # W Fied o 99

T H FAE &

¢ DOm0 , WD
Do ¢ mm
BEOEDEDED
LISl

B7. Iﬁ_ =5 =
I:.ﬁ " lji I_!ul: Qﬂ

e (ITHITL] 2 |11
LTI
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Directions: 69 tovMPadasalai.Net
Find the one that does not fit into the
saries established by the seven figures

given,
CEEEEEEE
: gy s
70. 2
== s
1 2 3¢ 4
. L ’ i =
— - i‘
fena .3 Ty

Directions: 72 to 74

There is a some relationship between the
figures A & B. Establish a similar
relationship between C & D by choosing
a suitable figure from the answer set 1, 2,
3 & 4 for the missing figure.

TEe
kel
73. O@

c o

olelal®

SEINGE e
S|

2 3 4

74,

DirectionsnSme Tidpsc.com
« Four pairs of figures are given In three of
them; the first figure is related to the
second figure in the sama manner, Find
the odd pair out which is different from™
others.

B R

A 2 3 4

™ (wiolPile [T

1 2 3 -

Directions: 7810 79

A problem figure is given. Study the
figure carefully and then answer the
questions given under it,

78. How many squares are there?

26
30
25
17

il e

73. How many squares are there?

1. 9
2. 15
Tl
4. 17

http://www.trbtn psc.com/2014/f.-)1/§1T\ms-exam-study-mate rials.html



BT 60 ilwww.Padasalai.Net

mm#mﬂhﬂﬁrﬁgﬁmmﬁﬂ
hﬂﬂ?ﬁlﬁ?ﬁrﬂﬁﬂﬁﬁgl

69.
e EREEEEE
i z 1 4
70.
L= =] IHEN
T
1. { T
| PS [ 2 i
1 2 3 4
Frdsr: 72 & 74

ERAl A T B § A 98 69 &1 S
Cwm D & 92 4 39 999 wita 561 3

foiq @ 95 1, 2, 3 Ow 4 § & IS

AW F TG B = g
QY2 ?
OLQ
Ol L] 2

] =] 2
N E

Fdg: 75 VWY rbTnpsc.com

a1 AR & i3 Ru ogu ¥ o @ dm
e SRR TE St & Fedlt @ @ Hhte
®| 3 o wis F AW Fi S e |
B &

5 | 2i2P| B 1 G [0 B ik

it [ T e [ o
| n | |

7 oM@ TS|

FEa: 78 & 79

TH W G A1 TE o | AR # amart &
g Ffag oty ows e BT @ g o=
3wt fifg

78 : 3o FRee oot &7
1. 26
2. a0
a 25
4, 17
79 : 508 Pt o #Y
1. 9
2. 15
3. 16
4. i7

- http:/iwww.trbtnpsc.com/2014{@2#Jmms-exam-study-materials.html



Directions: B0 to&®.Padasalai.Net

There is a figure X given to the left of
vertical lines. Examine the figures given
in the alternatives 1, 2, 3 & 4 and find the
ong which is choose to be the exact
mirror image of the figure X.

T B e

® 1 2 3 4

“*-AHA:«:«
=3

X 1 4
a8z2. 0 i x Gl Ei
ol | g agmn a, |
X | 1 2 3 4

Directions: 83 to 85

Choose the correct water image of the
figure X from amongst the aiternatives 1,
2, 3, & 4 given along with it. The walter
source is shown below the figure X.

83. @ - EEJ

1 2 3 4
B4, = Ly L ;
S PAEIEREE
X 1 2 3

c AYYYY

Directions: 86 1o 89

Figure X is given with a part missing.
Choose the alternative which will complete
the missing part.
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B8P

s

n
a7,
LIS
% 1 2 3 4
a88. -
¥ SERE
1 2 P e
x
89

Daaaq

90. A dice is thrown three times and its
three different positions are shown
below. What number occurs at tha
bottom face in the three positions of
the dica?
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th th O
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X
88.
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89.
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1. 6, 6, 2
2, 8, 6, 1
3. 5, 5, D
4. 6,5 2
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In human® Yl 45A 8r¥5hd starts in

which part of the alimentary (diges-
tive) canal?

1. Stomach

2. Small intesting
3. Large intestine
4. Mouth

The carbohydrate synthesized by
plants gets stared in them in the form
of:

1. starch
2. protein
3. vitamin
4. minerals

A plastic spoon is dipped in a cup of
ice cream. Its other end:

1. becomes cold by the process of
conducticn

2. becomes cold by the process of
convection

3. becomes cold by the process of ra-
diation
4. does not become cold

When phenclphthalein is added to
solution X' it turns pink. The cbtained
zolution turns colourless when solu-
tion 'Y' is added to it. Identify "X' and
£y

1. X" and ' both are bases

2. X' and "Y' both are acids

3. "}'is an acid but *Y"' is a base

4. ®'is a base but *Y” is an acid
Malting of ice {Process-A). On heat-
ing water changes into steam (Pro-
cess-B). The following statements per-

tain to these processes. Choose the
correct one.

1. Process-A is a chemical change
2. Process-B is a chemical change

3. Procaess-A and Process-B are both
chemical changes

4. None of these processes is a
chemical change

10.

11,

Type WIMikRE P Fefjeisthan is:
1. hot and humid

2. hot and dry

3. cold and humid

4. cold and dry

We should live in a house which has
both windows and ventilators be-

CALSE

1. fresh cold air comes in through
bath windows and ventilators

2 warm air comes in through both
windows and ventilators

3. fresh cold air comes in through
windows and warm air goes out
through ventilators

4. warm air comes in through win-
dows and fresh cold air goes out
through ventilators

The water holding capacity is least in:
1. sandy soil

2. clayey soil

3. loamy soil

4. mixiure of sand and loam
Earthworms breathe through:

1. lungs

2. gills

3. spiracles

4, sKin

Lactic acid is formed as one of the
products during:

1. aerobic respiration in plants

2. aerobic respiration in animals
3. anaerobic respiration in yeast
4.

anaerobic respiration in muscle
celis

Naphthalene balls used to repel
moths and other insects are cbtained
from:

1. charcoal
2. coal

3. coaltar
4. coke
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12.

13.

14.

1

16.

7.

The elements 'Ft)ﬁ%?sﬂﬁ'i"r\'re%t room

temperature without heating are:
1. sodium
2. phosphorus
3. sodium and phosphorus
4. none of the above
How many bones are there in the skull
of a man?
1. 19 bones
2. 30 bones
3. 22 bones
4. 10 bones
Electric fuse is based on the principle
of:
1. magnetic effect of electric current
2. chemical efiect of electric current
3. heating efiect of electric current
4. both heating and magnatic effect
of electric cument
Mo matter at what distance you stand
from the mirmror, your image is always
eract. The type of mirror is:
1. Plane
2. concave
3. convex
4. either plane or convex
Which of the following food chain is
comect?

1. grass — frog — snake — insect —
eagle

2. grass —» eagle — snake — insect

— frog
3. grass —» snake — frog —» insect —
eagle

4. grass — insect — frog — snake —
eagle

The examples of kharif crop are:

1. paddy, wheat. soyabean, coiton

2. paddy, maize, soyabean, cotton

3. paddy. maize, mustard, cotton

4 paddy, maize, soyabean, gram

18.

19.

20.

21,

22,

23,

24.

The mifHbJENEMCHEE causes cit-

rus canker disease is:

1. bacteria

2. fungi x
3. Virus

4, protozoa

W ¥

The following is an antibiotic:

1. anacin

2. streptomycin

3. disprin

4. asprin

Which of the oxides given below are
acidic?

1. CO,,CO

2. 50, ,C0

3. HO, CO

4. 50, , CO,

The components of an ecosystem
are:

1. biotic

2. abiotic

3. biotic and abiotic

4. none of the above

Which of the following cells are not
branched?

1. Muscle cells

2. Cheek cells

3. Red blood cells

4. Ali the above

Cell membrane is found in:

1. plant cell

2. animal cell

3. plant cell and animal cell

4. none of the above

The scientific term used for animals
that give birth to young ones is:
1. nocturnal

2. metamorphosis

3. oviparous

4. viviparous
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25.

26.

27.

28,

23,

30.

31
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Insulin hormone is secreted by:

1, pituitary giand

2. adrenal gland

3. thyroid gland

4. pancreas

The force exerted by a charged

body on another charged or un-
charged body is known as:

1. muscular force

2. magnelic force

3. electrostatic force

4. force due to friction

The comect sequeance of rolling,

static and sliding friction in increas-
ing order will be:

1. rolling, static, sliding
2. sliding, rolling, static
3. static, sliding, rolling
4. rolling, sliding, static
The frequency of a pendulum which

oscillates 600 timeas in one minute
is:

1. 600 Hz

2. 60 Hz

3. 100Hz °

4, 10 Hz

The shrillness or pitch of a sound is
determined by:

1. amplitude

2. frequency

3. wave length

4. time pericd

The impression of an image per-
sists on the retina for how long?
1. 16 minutes

2. 16 seconds

1. 1M16th of a minute
4. 1/16th of a second

The number of dot patterns or
characters in Braille ara:

32,

33.

36.

37.

1 Eliwww.Tranpsc.com

2. 63

3. 62 :

4. 61 =
Which of the following is not a star?
1. Sun

2. Pole star

3, shooling star

4, Sirius

Which of the following is not a green
house gas?

1. Carbon dioxide
2. Sulphur dioxide
3. Methane

4, Ozone

. ‘Rayon is prepared by using:

1. resins
2. coal

3. esters

4. wood pulp

. The finger like projections found in

the inner wall of small intestine are
called;

1. bulbs

2. spines

3. willi o

4. none of the above

Which Article of the Constitution
states that untouchability has been
abolished?

1. Aricle 51
2. Article 50
3. Article 17
4. Article 21

in which year Bengal was divided
into two parts?

1. 1905

2. 1910

3. 1815

4. 1920
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38.

39,

40.

41.

42,

43.

44.

Which B ot fli solwmg methods
i5 most appropriate to check soil
erosion on steep slopes?

1. Rock Dams

2. Mulehing

3. Terrace Farming

4. Inter Cropping

Which one of the following is consid-
ered as Black gold?

1. Coal

2. Petroleum

3. Bauxite

4, |ron

Which of the following state is not a
producer of Mica?

1. Jharkhand

2, Rajasthan

3. Karnataka

4, Andhra Pradesh

Viticulture is related to:
1. rearing of Silk worms
2. growing of Flowers

3. cultivation of Oranges
4. cultivation of Grapes

Golden fibre refers to:

1. Tea

2, Cotton

3, Jute

4, Coffes

In which year the Industrial disaster
in the city of Bhopal has occurred?
1. 1986

2. 1984

3. 1991

4, 1993

Which one of the following is the first
to develop Hydroelectricity?

1. Brazil

45,

415,

47,

48,

49,

50.

5 meranpsc.com

3. Norway

4. China

In which state the Atomic power
statlon ‘Kaiga' is located? -

1. Tamilnadu

2. Karnataka

3. Maharashtra

4, Uttar Pradesh

Which of the following Emperor
have not fought a single battle of
Panipat?

1. Akbar

2. Ibrahim Lodi

3. Sharshah Suri

4, Babur

The most important function of
Lokshabha is:

1. Judiciary

2. Executive

3. Legislative

4, none of the above

In which year the Supreme court
was astablished?

1950

1945

1962

1980

Who implemented the Doctrine of
Lapse?

1, Lord Wellesley

2, Lord Cornwallis

3. Lord Dalhousie

4, Thomas Munro

Name the Holy Book of Parsis.
1. Bible

2. Guru Granth Sahib

3. Zend Avesta

4. Koran

P R DY
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2.

5.

54,

a5,

58,

57,

58.

Who buill Ths Bed e Dethi?
. Sher Shah Suri

. Akbar

. Qutbdin-Aibak

. Shahjahan

P L3 MO ok

Who defeated Sultan Ibrahim Lodi
in the First Battle of Panipat?

1. Babur

2. Humayun

3. Jehangir

4. Akbar

Whao was the last Ruler of Mughal
Uynasty?

1. Jahangir

<. Bahadur Shah Zafar

3. Aurangzeb

4, Shahjahan

Where are Oxbow Lakes found?
1. Glaciers

2. River Valleys

3. Desert

4. Coastal Areas

The Layer of the atmosphere which
is free from clouds and associated
weather phenomenaon is:

1. Troposphere

2. Stratosphere

3. lonosphere

4, Mesosphere

Down Grassland is found in;
1. Brazil

2. North America

3. Asia

4. Australia

The shortest day in the southern
hamispheare is:

1. June 23

2. June 25

3. June 21

4. June 26

In which year Gandhiji declared a

59,

60.

61,

62.

63.

www. TrbTnpsc.com
march to break F’fhe salt?

1. 1832
2. 1925
3. 1830 o
4. 1928

What is Population Pyramid?

1. A graphical representation of
birth per thousand population

2. Pattern of population distribution
in large areas.

3. When the population density of
an area is so high that people
live in tall buildings

4. A graphical representation of the
age - sex composlition of a popu-
lation.

In which year UN was formed?
1. 19435
2. 1948
3. 1944
4. 1942

Rivar Bhima and Ghataprabha are
the tibutarias of:

1. River Godavari

2. River Krishna

3. River Ganga

4. Rwer Kavari

Which of the following is the largest
producer of Bauxita?

1. Africa

2. Australia

3. Antarclica

4. North America

Who wrote the Kitab-e-Hind?
1. Al Razer

2. Al Biruni

3. lbn Batuta

d4. Firdausi

Ajmer is associated with Sufi Saint:
1. Quiubuddin Bakhitiar Kaki

2. Baba Farid

3. Khwaja Muinuddin Chisti

4. Khwaja Mizamuddin Auliya
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65.

B6.

67.

68.

69.

70.

i

Who wrot&Heragaie el ismairi?
1. Pandita Ramabai

2. Ishwar Chandra Vidyasagar
3. Swami Dayanand Saraswati
4. Jyotirao Phule

Who was the first governor general
of Independent India?

1. Dr. Rajinder Prasad

2. Dr. 5. Radhakrishnan

3. Mahatama Gandhi

4. Mount Batan

From which Consiituiion was the
Concept of a Five Year Plan bor-
rowed into the Indian Constitution?
1. USA

2. USSR

3. UK

4. Ireland

Secularism is added to Indian Con-
stitution by the amendment:

1. 42

2. G2

3. 47

4. 73

In which year five year plan started
in India?
1. 1952
2. 1953
3. 10564
4, 1951

In which year was Indian capital
shifted from Calcutta to Delhi?
1. 1935

12900

1211

1929

e 0

Solve this equation

1—;—+i+l+ﬁ
3 3 6 15
1. -3/10
2. -8/30

f2.

73.

4.

73.

76.

F _W.Tranpsc.com
4. -6M10

A Train covers a certain distance in
3.5 hours at a spaed of 60 km/h.
How much time (in hours) will the
train take to cover the same dis-
tance at a speed of 80 km/h?

1. 21/8

2. 208
3. 28/6
4, 20/6

By selling a bag for Rs.1350 a shop-
keeper loses 10%. How much percent
would he gain by selling it for Rs.
16507

Lok

2. 10

3. 15

4. 20

Find the value of a, if
Ba = 35° - 27°

1. 60

2. 62

3. 63

4, 64

Length of a rectangle is 8m less
than twice its breadth, If the penm-
eter of the rectangle is 56m, find its
breadth (in m).

1. 10

2. 12

3. 14

4. 16

In a circle of radius 13 cm, a chord
is drawn at a distance 12 cm from
the centre. Find the length of the
chord.

1. 6cm

2. Bem

3. 10 cm

4 12 em
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66.

67.

63.

69,

TO.

T1.

Tremfinet e fduea afoves ?
1. gfea vAEE

2. 37RO e

3. T gaTe aeedar
4, THIRRTE ol

:;ﬂ'fﬂ HRE T WOH THAR weed B
7

1. E1. I8 THE

2. 1. UH. THEEA

3 . HEAl et

4 _ ATRCHEA

fFm 291 & wiaum |9 g=adta g
=i foram T &7

1. I TH I,

2. g UHUE.AR.

3. gAEee fhmea

4, IATAS

e -fAderar o1 T weiem @ sl
W= Aiaens 5 b fism T &2
1. 42

2. 62

3. 47

4. 73

W W o 76 ¥ =ity Senet ot

4. 1951

frg 99 ¥ weg o7 T TeeT o
feeeir weei T 7

1. 1935
2. 1900
3. 1911
4. 1929
R

.-1
3757 %
1. =310
2. -8f30

3, -9/25

+%H‘ﬁﬂﬂﬂ‘ﬂ'ﬁ?ﬂﬂﬁﬁ

-

A

74.

TY.

TG.

4. =M. TrbTnpsc.com

60 fHanies i ve1 21 99 9 94
Y&l Tw YomEr ve fiftew 7@ 3.s
g2 I 73 w2l afE Yo 9 v
wEwey g0 fearifes wfefs & @,
o1 ET 9 & 99 T A 99 fee
v (uE W) e

1. 21f8
2. 208
3.28/6
4. 20[6

Ife TH gEHFER UH 99 1350 ©. H
4, °1 99 10% = S 81 3f 98
o9 1650 w90 H 4« o 99 Tbdd
nfieE =M 2m?

. 5
.10

.15

4. 20

a W WH T wE, af
g8a = 35' - 27?

1. 60

2. 62

3. 63

4. 64

TH A @ oEE o 9isE | 8
4. 79 &l afe 39 W@ &1 9y 56

1. & @ zwer =@rerg (. 4) s w9
1. 10
2. 12
3. 14
id. 16

e 13 0991, 9191 UF ga A v o
& @= 9 T 12 W D &

T
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78.

79.

B0.

One side ofprri@iegsanis 4.8 cm

and the other side s % times the

first side, Find the perimeter of the
parallelogram (cm).

1. 24

2. 26

3. 28

4, 30

Find the square root of 0.0196.
1. 0.10

2. 0.14

3. 0.014

4. 0.0014

Find the cube root of -13824,
1. 24
2. -24
3. 26
4. -26

Evaluate:

(19427437447) 32

81.

82.

1. 107
2. 10°
3. 107
4. 10

Ram purchased 120 oanges at the
rate of Rs. 2 per orange. He sold
60% of the oranges at the rate of
As. 2.50 per orange and the remain-
ing oranges at the rate oi Rs 2 per
orange. Find his profit per cent.
1..15

2. 20

325

4. 30

The compound interest on
Hs.10000 for 3 years at 10% per
annum compounded annually will
be:

1. 3300

2. 3305

3. 3310

4. 3315

The ages of Ruby and Rashma are
in the ratio 5:7. Four years later their
ages will be in the ratio 3:4. Find the
age of Ruby (in Years).

1. El:KNWW.Tranpsc.com
2. 24

3, 28
4. 30

84. Find the area of a circle (in m=)

whose circumference is 880 cm.
1. 0.616
2. 6.16
3. 61.6
4, 616.0

85. Diameter of a sphere is 14 em. Find

its surface area (in cm?).
1. €616
2. 696
3. 6160
4. 6960

86. Inthe given figure, PAQ |l DE || BC. If

AD = 3cm, DB = 6cm and EC = 8cm.

find AE (cm).
3 a A P
/\Eﬁ-u:m
EA—\D
74
El.:/m‘j
G
1. 2
2. 4
d. 6
4. 8

87. Diagonals AC and BD of a rectangle

-

ABCD intersect each other at a
point Q. if OA = 5cm, find BD (cm).

D C

= B
i. 10
2, 12

3 14
4. 16
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TT

T8 .

T9.

80.

81.

Bl

83.

. Rt YA A1 19 \ets oo 4 .8
T, T AT 2T o TEel yun # 32
T Bl T wge e et afem ()
Eicieail

.24

. 26

. 28

. 30

0196 &1 aige SR T

. 0.0
014

. 0.014

. 0.0014
-13824 %1 TTHA A H3
1. 24
2_ -24
3. 26
4. -256

(12343 +42 ) o1 A o )
1. 107
2_107"
3.107°
4,10

M W 120 EaY 2 v9y "o W 9

37 ¥ =R 999 603% Hat 2.50

T H 8¢ 9 U" 3N AR o 2

T B FR A i S A i

= DRl

1. 15

220
3,25
4., 30
10000 B9 @ A I% UA q¥ @

foe 109 uftred 9 2% ¥ Wl e

T B ?

1. 3300

2. 3305
3. 3310
4. 3315

AT SR YT H A T AIE 5 T

B\ o a9 S Sy i SO 3t 4

1 Wi HAT H7 3y [ #) B-

1. 20

L T — I I YL T

g4 .

B5.

86.

87.

3 Ivw. TrbTnpsc.com

3. 28

4. 30

99 g9 9 H=%d (WMe®) W g
formar o ago . &7

1. 0.616

2. b6

3. 61.6

4. 616.0

wE R W oEE 14 I8 ¥ sme
R SA% (I W |) S S
1. 616

2. 696

3. 6160

4. 6960

gt A PAQIIDENBC aff AD=3 1.
, DB =6 %41, @en EC=8 1. W AE
(@nfr.) =1 W= gl

a A F

ur

E ~
% -
El::mf;’ \\Ei:r"
4
A
C B
a2
2o
i. 6
4. 8

ABCD amge ® @) fasel AC 3i® BD
farg O o wfiess wa Bl 3% OA=5
A, & @ BD (F.) = == gm

B C
0

A B

1. 10

G [

3. 14

4. 16
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B8.

89.

90.

Find the valy@\e?addpatighies given 88. TE wuigEE FrpicaR@n 4 PQ=PR
below where APOR is isosceles £l X = "= wm Sl
with PQ = PR. -
LE
h"“-.,.l p ~%
X
30°
Q R
1..30°
130 2, 40°
i 3. 60°
3. 60° gt
4. 90° 4. 90
Find the measure of ZFED of figure 89. ampfa § LFED 1 W9 aw &7
given below.
1. 70°
1. ?ﬂj 1_ ﬂﬂ=
2. B0¢ 3. 85°
3. 85 a
4 9o’ 4. 90
The area of trapezium of height 7 cm g0. g A fewmmn mm waera aqiw A
is 140 cm?. If one of the parallel sides Sard 7 9. alr dmwa 140 WA
is 25 ¢cm, find the other side (in cm). #1 Tl U AR 3o 25 <A,
\ o (¥ e
\
0
2. 10
3. 15
4 20
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Annexure X

STATE INSTITUTE OF EDUCATION, SECTOR 32, UT CHANDIG ARH
ANSWER KEY

STSE/NMMS Scheme Examingtion =2011
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